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1{FiiE= (Sliping bearing) (& =0.96)

LAl
1 2 3 4 5 6 7 8 9 10 11 12
n v
nvi 0.960 | 0.941 | 0.922 | 0.904 | 0.886 | 0.869 | 0.852 | 0.836 | 0.820 | 0.804 | 0.789 | 0.775
nvo 0.980 | 0.961 | 0.942 | 0.923 | 0.905 | 0.888 | 0.871 | 0.854 | 0.838 | 0.822 | 0.807 | 0.792
nvs 0.960 | 0.940 | 0.921 | 0.902 | 0.883 | 0.865 | 0.847 | 0.829 | 0.811 | 0.793 | 0.776 | 0.758
nva 0.980 | 0.959 | 0.940 | 0.920 | 0.901 | 0.882 | 0.863 | 0.845 | 0.827 | 0.809 | 0.791 | 0.774
1523k —ipt= gl e= (ball and roll bearing) (¢ =0.98)
LA
1 2 3 4 5 6 7 8 9 10 11 12
n v
nvi 0.980 | 0.970 | 0.961 | 0.951 | 0.942 | 0.932 | 0.923 | 0.914 | 0.905 | 0.896 | 0.888 | 0.879
nvs 0.990 | 0.980 | 0.970 | 0.961 | 0.951 | 0.942 | 0.932 | 0.924 | 0.915 | 0.906 | 0.897 | 0.688
nvs 0.980 | 0.970 | 0.960 | 0.951 | 0.941 | 0.931 | 0.922 | 0.912 | 0.903 | 0.893 | 0.885 | 0.875
Nva 0.990 | 0.980 | 0.970 | 0.960 | 0.950 | 0.941 | 0.931 | 0.921 | 0.912 | 0.902 | 0.893 | 0.883




